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1) A quadrilateral whose diagonals bisect each other and are perpendicular is a

a) Rhombus b) Rectangle C) Trapezoid D) Parallelogram

2) If ABCD is a square, AB = 2x + 4 and CD = 3x - 5, find BC.
A B

May 2-8:42 AM

3) Rhombus ABCD has a diagonal BD with m< ¢ = 100. What is m< DBC?

4) What is the length of the diagonal of a square whose side length is 12?

May 2-8:43 AM

5) In rhombus ABCD, the diagonals AC and BD intersect at E. If AC = 18 and BD = 24. What is the
length of one side of rhombus ABCD?

B

5x- 10

as°

) In the diagram below is square ABCD.If < CBD = 45and < ABD = 5x - 10. Solve for x.
A

[7) In rhombus ABCD, the measure, in inches, of AB is 3x + 2 and BC is x + 2. Find the number of
inches in the length of DC.
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8) If ABCD is a square, AB = 2x + 4 and CD = 3x— 5, find BC.
A B

D c

9) Insquare ABCD, AC =18 and < B = 5x. Solve for x.
A D

Pl c

10) FISH is a square with IT =8. Find IH.
F 1
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